

New subclass of bi-univalent function associated to Horadam polynomials

N. D. Sangle¹

Department of Mathematics,
Annasaheb Dange College of Engineering & Technology, Ashta,
Sangli, (M.S.) India 416301

Email: navneetsangle@rediffmail.com

G. M. Birajdar²

Department of Mathematics,
Shivaji University, Kolhapur (M.S) India 416004

Email: gmbirajdar28@gmail.com

Abstract

The main purpose of this article is to make use of the Horadam polynomials in order to introduce new subclass $G_{\Sigma}(\lambda, x, n)$ of the bi-univalent function Σ , we then derive coefficient inequalities on the Taylor-Maclaurin coefficients $|a_2|$ and $|a_3|$ and Fekete-Szego inequalities for functions belonging to the defined classes.

2000 Mathematics Subject Classification: 30C45, 30C50.

Keywords:

Analytic functions, Univalent and bi-univalent functions, Horadam polynomials, Subordination, Salagean, Fekete-Szego.

1 Introduction:

Let A denote the class of the function $f(z)$ of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad a_n \geq 0 \quad (1.1)$$

which are analytic and univalent in the unit disc $U = \{z \in \mathbb{C}: |z| < 1\}$ and satisfy the normalization condition $f(0) = 0, f'(0) = 1$.

Let S denote the subclass of A consisting functions of the form (1.1) which are univalent in U . In 1983, Salagean [1] introduced the following differential operator:

$$D^0 f(z) = f(z)$$

$$D^1 f(z) = z f'(z)$$

and

$$D^n f(z) = D(D^{n-1} f(z)), \quad (n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\})$$

For the functions given by equation (1.1), we can easily find that

$$D^n f(z) = z + \sum_{n=2}^{\infty} k^n a_n z^n$$

A function $f \in S$ is said to be starlike of order α ($0 \leq \alpha < 1$) if and only if

$$\operatorname{Re} \left(\frac{z f'(z)}{f(z)} \right) > \alpha, \quad z \in U \quad (1.2)$$

and convex of order α if and only if

$$\operatorname{Re}\left(1 + \frac{zf''(z)}{f'(z)}\right) > \alpha, \quad z \in U \quad (1.3)$$

Denote these classes respectively $S^*(\alpha)$ and $K(\alpha)$.

Every function $f \in S$ has an inverse f^{-1} defined by $f^{-1}(f(z)) = z$, ($z \in U$) and $f^{-1}(f(w)) = w$, ($|w| < r_0(f) \geq \frac{1}{4}$), where

$$f^{-1}(w) = w - a_2w + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \dots \quad (1.4)$$

A function $f \in S$ is said to be bi-univalent in U if both $f(z)$ and $f^{-1}(z)$ are univalent in U .

Let Σ denote the class of bi-univalent functions in U given by (1.1). The class Σ of biunivalent functions was first investigated by Lewin [8] and it was shown that $|a_2| < 1.51$. Brannan and Taha [2] also introduced certain subclasses of bi-univalent function and estimates for their initial coefficients.

Recently, Srivastava et.al.[10], Srivastava and Bansal [11], Sourabh Porwal and M.Darus [9], Frasin and Aouf [7] are also introduced and investigated the various subclasses of bi-univalent functions and obtained bound for the coefficients $|a_2|$ and $|a_3|$. Motivating with their work, we introduce new subclass of the function class P and find estimates on the coefficients $|a_2|$ and $|a_3|$ for the functions in this subclass.

For two functions f and g are analytic in U , we say that the function f is subordinate to g in U , written as $f < g$, $z \in U$, if there exists an analytic function $w(z)$ defined on U with $w(0) = 0$ and $|w(z)| < 1$ for all $z \in U$, such that $f(z) = g(w(z))$ for all $z \in U$. Also, it is known that $f(z) < g(z)$, ($z \in U$) $\Rightarrow f(0) = g(0)$ and $f(U) \subset g(U)$.

Recently, Horcum and Kocer [12] considered Horadam polynomials $h_n(x)$ are given by the following recurrence relation

$$h_n(x) = pxh_{n-1}(x) + qh_{n-2}(x), (n \in \mathbb{N} \geq 2). \quad (1.5)$$

with $h_1 = a, h_2 = bx, h_3 = pbx + aq$ for some real constants a, b, p and q . The generating function of the Horadam polynomials $h_n(x)$ (see [12]) is given by

$$\Pi(x, z) = \frac{a+(b-ap)z}{1-pst-qt^2} = \sum_{n=1}^{\infty} h_n(x) z^{n-1} \quad (1.6)$$

Note that for particular values of a, b, p and q , the Horadam polynomial $h_n(x)$ leads to various polynomials, among those, we list few cases here (see [12], [13] for more details):

1. For $a = b = p = q = 1$, we have the Fibonacci polynomials $F_n(x)$
2. For $a = 2$ and $b = p = q = 1$, we obtain the Lucas polynomials $L_n(x)$
3. For $a = q = 1$ and $b = p = 2$, we get the Pell polynomials $P_n(x)$
4. For $a = b = p = 2$ and $q = 1$, we attain the Pell-Lucas polynomials $Q_n(x)$
5. For $a = b = 1, p = 2$ and $q = -1$, we have the Chebyshev polynomials $T_n(x)$ of the first kind.
6. For $a = 1, b = p = 2$ and $q = -1$, we obtain the Chebyshev polynomials $U_n(x)$ of the second kind.

More details associated with these polynomials sequences in ([12]-[15]).

2 Coefficient Bounds for the Class $G_{\Sigma}(\lambda, x, n)$

We begin by introducing the class $G_{\Sigma}(\lambda, x, n)$ of bi-univalent functions in the following definition.

Definition 2.1. A function $f \in P$ of the form (1.1) belongs to the class $G_{\Sigma}(\lambda, x, n)$, $\lambda \geq 1$ and $z, w \in U$ if the following conditions are satisfied:

$$\frac{(1-\lambda)D^n f(z) + \lambda D^{n+1} f(z)}{z} < \Pi(x, z) + 1 - a \quad (2.1)$$

and

$$\frac{(1-\lambda)D^n f(w) + \lambda D^{n+1} f(w)}{w} < \Pi(x, w) + 1 - a. \quad (2.2)$$

Theorem 2.1. Let the function f given by (1.1) be in the class $G_{\Sigma}(\lambda, x, n)$. Then

$$|a_2| \leq \frac{|bx|\sqrt{bx}}{b^2 x^2 [(1-\lambda)3^n + \lambda 3^{n+1}]^2 - (pbx^2 + aq)[(1-\lambda)2^n + \lambda 2^{n+1}]} \quad (2.3)$$

$$|a_3| \leq \frac{2|bx|}{(1-\lambda)3^n + \lambda 3^{n+1}} + \frac{4(bx)^2}{[(1-\lambda)2^n + \lambda 2^{n+1}]^2} \quad (2.4)$$

and

$$|a_3 - ta_2^2| = \begin{cases} \frac{|h_2(x)|}{[(1-\lambda)3^n + \lambda 3^{n+1}]}, & 0 \leq \sigma(t, x) \leq \frac{1}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} \\ \frac{2|h_2(x)||\sigma(t, x)|}{[(1-\lambda)3^n + \lambda 3^{n+1}]}, & \sigma(t, x) \geq \frac{1}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} \end{cases}$$

where $h_2 = bx, h_3 = pbx^2 + aq$ and

$$\sigma(t, x) = \frac{(1-t)[h_2(x)]^2}{2[[h_2(x)]^3[(1-\lambda)3^n + \lambda 3^{n+1}]^2 - h_3(x)[(1-\lambda)2^n + \lambda 2^{n+1}]]}$$

Proof:

Let $f \in G_{\Sigma}(\lambda, x, n)$ be given by Taylor-Maclaurin expansion (1.1). Then, there are analytic functions ϑ and φ such that $\vartheta(0) = \varphi(0) = 0$, $|\vartheta(z)| < 1$ and $|\varphi(z)| < 1$, ($z, w \in U$).

We can write

$$\frac{(1-\lambda)D^n f(z) + \lambda D^{n+1} f(z)}{z} = \omega(x, \vartheta(z)) + 1 - a \quad (2.5)$$

and

$$\frac{(1-\lambda)D^n g(w) + \lambda D^{n+1} g(w)}{w} = \omega(x, \varphi(w)) + 1 - a. \quad (2.6)$$

Or, equivalently,

$$\frac{(1-\lambda)D^n f(z) + \lambda D^{n+1} f(z)}{z} = 1 + h_1(x) - a + h_2(x)\vartheta(z) + h_3(x)[\vartheta(z)]^2 + \dots \quad (2.7)$$

and

$$\frac{(1-\lambda)D^n g(w) + \lambda D^{n+1} g(w)}{w} = 1 + h_1(x) - a + h_2(x)\varphi(w) + h_3(x)[\varphi(w)]^2 + \dots \quad (2.8)$$

From equation (2.7) and (2.8), we obtain

$$\frac{(1-\lambda)D^n f(z) + \lambda D^{n+1} f(z)}{z} = 1 + h_1(x) + h_2(x)p_1(z) + [h_2(x)p_2 + h_3(x)p_1^2]z^2 + \dots \quad (2.9)$$

and

$$\frac{(1-\lambda)D^n g(w) + \lambda D^{n+1} g(w)}{w} = 1 + h_1(x) + h_2(x)q_1(w) + [h_2(x)q_2 + h_3(x)q_1^2]w^2 + \dots \quad (2.10)$$

It is well known that

$$|\varnothing(z)| = |p_1z + p_2z^2 + \dots| < 1 \quad \text{and} \quad |\varphi(z)| = |q_1w + q_2w^2 + \dots| < 1$$

then

$$|p_k| < 1 \text{ and } |q_k| < 1, \quad (k \in \mathbb{N}).$$

Thus, upon comparing the corresponding coefficients in equations (2.9) and (2.10), we have

$$h_2(x)p_1 = [(1-\lambda)2^n + \lambda 2^{n+1}]a_2 \quad (2.11)$$

$$h_2(x)p_2 + h_3(x)p_1^2 = [(1-\lambda)3^n + \lambda 3^{n+1}]a_3 \quad (2.12)$$

$$-h_2(x)q_1 = [(1-\lambda)2^n + \lambda 2^{n+1}]a_2 \quad (2.13)$$

and

$$h_2(x)q_2 + h_3(x)q_1^2 = [(1-\lambda)3^n + \lambda 3^{n+1}](2a_2^2 - a_3). \quad (2.14)$$

From (2.11) and (2.13), we find that

$$p_1 = -q_1 \quad (2.15)$$

$$2[(1-\lambda)2^n + \lambda 2^{n+1}]^2 a_2^2 = [h_2(x)]^2 [p_1^2 + q_1^2] \quad (2.16)$$

$$a_2^2 = \frac{[h_2(x)]^2 [p_1^2 + q_1^2]}{2[(1-\lambda)2^n + \lambda 2^{n+1}]^2}. \quad (2.17)$$

If we add equations (2.12) and (2.14), we get

$$2[(1-\lambda)3^n + \lambda 3^{n+1}]^2 a_2^2 = h_2(x)(p_2 + q_2) + h_3(x)[p_1^2 + q_1^2]. \quad (2.18)$$

By substituting (2.16) in equation (2.18), we obtain

$$a_2^2 = \frac{[h_3(x)]^3 [p_2 + q_2]}{2[h_2(x)]^2 [(1-\lambda)3^n + \lambda 3^{n+1}]^2 - 2h_3(x)[(1-\lambda)2^n + \lambda 2^{n+1}]}$$

which yields

$$|a_2| \leq \frac{|bx|\sqrt{bx}}{b^2x^2[(1-\lambda)3^n + \lambda 3^{n+1}]^2 - (pbx^2 + aq)[(1-\lambda)2^n + \lambda 2^{n+1}]}$$

By subtracting equation (2.14) from (2.12), we obtain

$$[(1-\lambda)3^n + \lambda 3^{n+1}](2a_3 - 2a_2^2) = h_2(x)(p_2 - q_2) + h_3(x)[p_1^2 - q_1^2]$$

By using equation (2.15), we get

$$a_3 = \frac{h_2(x)[p_2 - q_2]}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} + a_2^2. \quad (2.19)$$

Now, using equation (2.17) in (2.19), we obtain

$$a_3 = \frac{h_2(x)[p_2 - q_2]}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} + \frac{[h_2(x)]^2[p_1^2 + q_1^2]}{2[(1-\lambda)2^n + \lambda 2^{n+1}]^2}$$

which yields

$$|a_3| \leq \frac{2|bx|}{(1-\lambda)3^n + \lambda 3^{n+1}} + \frac{4(bx)^2}{[(1-\lambda)2^n + \lambda 2^{n+1}]^2}.$$

From (2.21), for $t \in \mathbb{R}$, we write

$$a_3 - ta_2^2 = \frac{h_2(x)[p_2 - q_2]}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} + (1-t)a_2^2. \quad (2.20)$$

By substituting (2.19) in (2.20), we have

$$\begin{aligned} a_3 - ta_2^2 &= \frac{h_2(x)[p_2 - q_2]}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} + (1-t) \frac{[h_3(x)]^3[p_2 + q_2]}{2[h_2(x)]^2[(1-\lambda)3^n + \lambda 3^{n+1}]^2 - 2h_3(x)[(1-\lambda)2^n + \lambda 2^{n+1}]} \\ &= h_2(x) \left\{ \left(\sigma(t, x) + \frac{1}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} \right) p_2 + \left(\sigma(t, x) - \frac{1}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} \right) q_2 \right\} \end{aligned}$$

where

$$\sigma(t, x) = \frac{(1-t)[h_2(x)]^2}{2[[h_2(x)]^3[(1-\lambda)3^n + \lambda 3^{n+1}]^2 - h_3(x)[(1-\lambda)2^n + \lambda 2^{n+1}]]}.$$

Hence, we conclude that

$$|a_3 - ta_2^2| = \begin{cases} \frac{|h_2(x)|}{[(1-\lambda)3^n + \lambda 3^{n+1}]}, & 0 \leq \sigma(t, x) \leq \frac{1}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} \\ \frac{2|h_2(x)||\sigma(t, x)|}{[(1-\lambda)3^n + \lambda 3^{n+1}]}, & \sigma(t, x) \geq \frac{1}{2[(1-\lambda)3^n + \lambda 3^{n+1}]} \end{cases}$$

which completes the proof of Theorem (2.1).

On putting $\lambda = 1, n = 0$, we get following corollary.

Corollary 2.1.1. Let the function f given by (1.1) be in the class $G_{\Sigma}(1, x)$.

$$\begin{aligned} |a_2| &\leq \frac{|bx|\sqrt{bx}}{\sqrt{bx^2(9b - 2p) - aq}} \\ |a_3| &\leq \frac{2}{3}|bx| + (bx)^2 \end{aligned}$$

and

$$|a_3 - ta_2^2| = \begin{cases} \frac{|h_2(x)|}{3}, & 0 \leq \sigma(t, x) \leq \frac{1}{3} \\ \frac{2|h_2(x)||\sigma(t, x)|}{3}, & \sigma(t, x) \geq \frac{1}{3} \end{cases}$$

where

$$\sigma(t, x) = \frac{(1-t)[h_2(x)]^2}{2[9[h_2(x)]^3 - 2h_3(x)]}.$$

References:

- [1] Salagean GS. Subclasses of univalent functions. *Lect Notes Math* 1983; 1013, 362-372.
- [2] Brannan, D.A.and Taha, T.S.(1986), On some classes of bi-univalent functions. *Stud. Univ.Babes Bolyai Math.* 31, 70-77.
- [3] A. G. Alamoush and M. Darus, Coefficient bounds for new subclasses of biunivalent functions using Hadamard product, *Acta Univ. Apul.* (3)(2014), 153-161.
- [4] Alamoush, A. G. On a subclass of bi-univalent functions associated to Horadam polynomials, *Int. J. Open Problems Complex Analysis*, Vol. 12, No. 1,(2020),58-65.
- [5] Duren, P.L.(1983),*Univalent Functions*, Grundlehren Math. Wiss. Springer, New York, 259.
- [6] H. M. Srivastava, S_. Alt_nkaya and S. Yalcin, Certain subclasses of bi-univalent functions associated with the Horadam polynomials, *Iran J Sci Technol Trans Sci*,(2018), 1-7.
- [7] Frasin, B.A., Aouf, M.K.(2011), New subclasses of bi-univalent functions. *Appl. Math. Lett.* 24,1569-1573.
- [8] Lewin, M.(1967), On a coefficient problem for bi-univalent functions. *Proc. Am. Math. Soc.* 18, 63-68.
- [9] Porwal, S., Darus, M.(2013), On a new subclass of bi-univalent functions, *J. Egypt. Math. Soc.* 21(3), pp.190-193.
- [10] Srivastava, H.M., Mishra, A.K., Gochhayat, P.(2010), Certain subclasses of analytic and bi-univalent functions. *Appl. Math. Lett.* 23, 1188{1192.
- [11] Srivastava H.M., D. Bansal (2014), Coefficient estimates for a subclass of analytic and bi-univalent functions, *J. Egypt. Math. Soc.* 1{4.
- [12] T. Horcum and E. G. Kocer, On some properties of Horadam polynomials, *Int. Math. Forum.* (4) (2009), 1243-1252.
- [13] A. F. Horadam and J. M. Mahon, Pell and Pell-Lucas Polynomials, *Fibon.Quart.* (23) (1985), 7-20.
- [14] A. F. Horadam, Jacobsthal Representation Polynomials, *Fibon. Quart.*(35)(1997), 137-148.
- [15] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, A Wiley-Interscience Publication, (2001).
- [16] A. Lupas, *A Guide of Fibonacci and Lucas Polynomials*, *Math. Magaz.*(7)(1999), 2-12.
- [17] N. Magesh, J. Nirmala, and J. Yamini, Initial estimates for certain subclasses of bi-univalent functions with

k- Fibonacci numbers, (2020), arXiv preprint arXiv: 2001.08569.